1. Divide two-digit whole number quotients with three digit dividends with a remainder.
12585
A. 48R9
B. 48R8



You are right! Go to next.



You are wrong! Try again.



2. Divide two-digit whole number quotients with three-digit dividends with a remainder.
24)236
A. 9R20
B. 20R9



You are right! Go to next.



You are wrong! Try again.



3. Divide two-digit whole number quotients with three-digit dividends with a remainder.
16)569

A. 26R15
B. 36R13




You are right! Go to next.



You are wrong! Try again.



4. Divide two digit whole number quotients with three digit dividends with a remainder.
12)847

A. 48R9
B. 26R15



You are right! Go to next.



You are wrong! Try again.



5. Divide two digit whole number quotients with three digit dividends with a remainder.
193925

A. 25R16
B. 48R13



You are right!



You are wrong! Try again.



